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Board m r chapter wise analysi

Topic mcq im | 2m 3m 4m | 5m | marks
Arithmetic progression 1 1 2 1 - - 9
Triangles 1 1 . - - 1 7
Circles - - 1 - - 3
Pair of linear equations 1 1 1 - 1 8
Areas related fo circles - 1 - 1 - - 4
constructions . 1 1 1 - 9
Co-ordinate geometry 1 1 1 1 - 7
Quadratic equations 1 2 - 1 - 9
Trigonometry 1 1 1 1 - 7
Applications of trigonometry - - - 1 4
statistics 1 2 2 " T
Surface areas and volumes 1 2 - 1 - - 6
Total 8 8 8 9 4 1 80
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20303 1 .3379033 ZeB0 2o AR BB, BB BN
T e o |

1. 203 J370030 TeBabh n e I3 2n+3 T3 S TeBab BISe mm& FoR&HBAO
Solution: an=2n+3

n=10
a10=2(10)+3
=20+3
a, =23.
1. 20 I372033 ZeBod nJe I3 n°+2 333 S BeBad 6=3e —w’ddﬁg( BoR&HBAO
Solution: a = n2+2
n=6
=6"+2
a6—
=36+2
a 6=38.

RIDT FF AR
1. %oxd IF70033 FeBd n e 33 20’42 u33 8 ZeBab 9T TSI, BoRRBAO.
2. 208 J0030 FeBah nIFe I3 3n+4 STV S5 TeBodh 4Je STIY, BB

3. 20w I0030 BeBab ne I n-2 TS B FrBad 5e IO, B0 LB
20BL I 2 IR0033 ZeBabh T Fee, BTNV, B0 HBABNJHTD.
LYo £ o ]
1. 2ot I2033 Bedob nFe I3 2n-1 ST Fedab SpBL Toww, BB, BoTEHBO
Solution; an=2n-3

n=1, then a =2(1)-1=2-1=1
n=2, then a,=2(2)-1=4-1=3.
n=3, then a,=2(3)-1=6-1=5
n=4, then a,=2(4)-1=8-1=7.
SRBB0B B FeBab ST Ty, BIAW 1,3,5,7.
1. 2ot BR033 BeBoh nJe B3 N +2 B0 S BeBod FeBO T, FBRYRY FoBPAMS
Solution; an=2n2 +2,
n=1, then a =(1)"+2=1+2=3.
n=2, then a,=(2)" +2=4+2=6.
n=3, then a,=(3)"+2=9+2=11.
n=4, then a =(4)"+2=16+2=18.

3003 & Bedad Spdw Jew, IFRW  3,6,11,18.



IV BT A
2,00 JSye03T FeBob n e B3 2n+1 STT B F)eBodh SPTO Toew, BBNYY, B0 LBIO

2,00 JIZ70033 FeBad n Je 33 n’+1 o33 & ZeB0h SRTO Foe), BTMYY, BowDEHBN

20BLJ-3 BIe033 TR n I BB _BoDdBadn)D

1. 258,.....8 Bedab 53¢ 33y S0RBBMD.
Solution; a=2, d=3, n=5, a 5= ?
an=a+(n-1)d
a.= 2+(5-1)3
= 2+4x3

=2+12
a, = 14.
2. 100,90,80.,....... B ZeBab 253 BBIY, B0 BB
Solution; a=100, d=-10, n=25, a,= ?
an=a+(n-1)d
a,= 100+(25-1)(-10)

= 100+24x(-10)
= 100-240
a, =- 140.

QRIDT T AR
1. 1,4,7,..... 8 Belad 105 3T 30DHBWO
2. 2,6,10,..... 8 Belod 505 STTSY S0DHAWO
3. 20,16,12,...... 8 BB 203 BTJY B0RLBWO

2080 4 IF0033 TeBod SeTO N IFRY 3RS
1. 2,6,10,...... 3 FeBab 36T BR) BBV SPBSRY, 30wEHBO.
Solution; a=2, d=4, n=10, 510= ?
S=7[2a+ (n - 1)d]
sw=1—2°[2(2) + (10— D4]=5[4+ (9)4]=5[4+ (9)4]
= 5[4 + 36]= 5x40
510 = 200.
2. 1,4,7,10,...... 3 Bedab S080 25 ST B3 S0BDLAWD
Solution; a=1, d=3, n=25, Sz5= ?
S=a[2a+ (n—-Dd]l=> S =2[2(1) + (25 - D3]

_ 25 — 25
=22+ (293]1==-[2 + 72]
— 25 - -
= [74]= 25 x 37=925

IART BT I
1. 2,5,8,...... 8 BeBod SpTo 20 STRY SPBSIY, FoBDHBND
1. 3,6,9,,...... 8 BeBod St 35 ITRY IeSID, BowDHEO
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2080 S 1. S8 JpeIDoB STTOLRY, S0 BN

S[eso33 5-15 15-25 25-35 35-45 45-55
533 4 3 6 5 2
cl f x fx

5.15 4 10 40
15-25 3 20 60
25-35 6 30 180
35-45 5 40 200
45-55 2 50 100
Sf =20 Sfx=580
SoeR0 = ZZ—’?
_ 580
20

[0e80 =29
@mﬁd o"g?ﬁ’o(rﬁ%b
B BYNR B@2033, JTBOWR), BB
SMeFo33 5-15 15-25 25-35 35-45 45-55

533 4 3 6 5 2

8 YN B39033, KT80ah), S0@HBO
SIMero33 1-5 6-10 11-15 16-20 21-25

53,3 5 6 4 3 2




S080F 2 WDOS
BOBLS 2
& 3YNS Bz0038, BV S, Bo@ LARO

I=3, f =7, f =8, f,=2, h=2.

SIMec03T 1-3 3-5 5-7 7-9 9-11
53,3 7 8 2 2 1
Ci f
1-3 7 f

3-5 8 f, Modal class
5-7 2 f,

7-9 2
9-11 1

f~f
= | —2>—
wR03 =/ lzfl g ]Xh
[ 87
=3+ | 2(8)-7—2 ]x2
[ 1 _ 1 - 1lyo =242
-3+ | h k2 = ae [ k2= 34 [Hx2 =34 2
wLs =3.286
@mﬁd —-_’)25;
83 3PN B39033, RV I, 0B HBAO
SMero33 5-15 15-25 25-35 35-45 45-55 | 55-65
33 6 11 21 23 14 5




20303 3 d)c,méos
& BYAS BE2033, 5,08 S, B0 HAWO

Cl 10-25 25-40 40-55 55-70 70-85 85-100
f 2 3 7 6 6
Ci f Cf
10-25 2 2
25-40 3 2+3=5
40-55 7 5+7=12, cf=12
1=55-70 6= 12+6=18 %=15
70-85 6 18+6=24
85-100 6 24+6=30
n=30
n__30 _
>, 15, h=15

——cf

abOQ§E§=I*'[ 2f ]‘X1L

=55+ |12 | x15 =554] 2 |15 =55+22= 55+7.5=62.5
9,08 =62.5
RIS BB
& BUNS B32088, B09,08 B, 0@ HBALD
Cl 65-85 | 85-105 | 105-125 | 125-145 | 145-165 | 165-185 | 185-205
F 4 5 13 20 14 8 4




230803 4. BB APIIT e dg
s YRS B30033, 30D APRT Ludes’ T
cl 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65
f 22 10 8 15 5 6
cl f cf R
4 704 Less than
5-15 22 22 2 601 (65, 66)
15-25 10 22+10=32 d?r, 50 T
£ 404
25-35 8 32+8=40 ¢ 51 o
—_ [©] AL
35-45 15 40+15=55 E 201 45, 29)
10+
45-55 5 55+5=60 3 N it 4=5 5,5 6} X
55.65 | 6 60+6=66 15112501350 &
Upper limit—>
TR TF, AW
B IFIND Cﬁa?_ooziéé BAD APINB Lwdexs® Tedd
Class interval 5-15 15-25 25-35 35-45 45-55 55-65
frequency 6 11 21 23 14 5
B SN LSZ%_»O?S%6 BAD APIRB Lwdexs® Tedd
Cl 65-85 85-105 | 105-125 | 125-145 | 145-165 | 165-185 | 185-205
f 4 5 13 20 14 8 4




0BV 5 B IPIRT Wded’ IF

S ZYNS T033, O3 AP LSes® 58 08

cl 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
f 3 6 12 9 6 4
i
cl f cf >0l 200
20-25 3 40 € e | (25, 37)
25-30 6 40-3=37 & 301 S
- 9= ore than ogive
£ o5l el :
30-35 12 37-6=31 2 2] (35, 19)
35-40 9 31-12=19 g 15¢
2 101 (40, 10)
40-45 6 19-9=10 3 51 (45, 4)
45-50 4 10-6=4 —————
6\’20 25 30 35 4045
>f =40 Lower limit—
eﬁmﬁd a_)q(mb
B BUNS B32038, VOB IR L3 B8 B3d
cl 10-25 | 2540 | 40-55 | 5570 | 70-85 | 85-100
f 2 3 7 6 6 6
cl 5.15 | 15-25 | 25-35 | 35-45 | 45.55 | 55-65
f 22 10 8 15 5 6




Sre Bveadns e@de ded  ax +bx+c=0

Sre Bvesdns deess 3 A =b -4ac

—(b)+\/b”* —4ac

INE VDEeBTHT 330 W3, X=

2a
INE VDEBTEIT SN K:)smd
RS RS F’%md
b2-4ac>0 RO TS DR DY
b2-4ac=0 VN TITS DA I
2 DIVDTOT UMD
b -4ac<0 ( Imaginary roots)

2080 T 1 Irr SWeBTHTR), OBIBER ITIRD0T DBDID
x°-5x+6=0 & Trie FVeBTHTY, VISR ATHRVBOT DB

similarly
X’ -5x+6=0 X +5x+6=0
x*-3x-2x+2(3)=0 X’ +3x+2x+2(3)=0
x(x-3)-2(x-3)=0 X(x+3)+2(x+3)=0
(x-3)(x-2)=0 (x+3)(x+2)=0
x-3=0 x-2=0 x+3=0 x+2=0
x=3 x=2 x=-3 X=-2

PR BTN DB X -Tx+10=0 , x +7x+12=0



2030 2 FeIB IBhBOT SrE SWeSTETY DBDBD

x2-5x+6=0 B3 3INE ro’cfbeédsaddg( R3ST BH0ROT DB
Solution: a=1, b=-5, c¢=6

X=

—(0) \b' —4ac _ 5 VE5)’ —11)®)

2a 2(1)
_ 5+-+/25-24
2
_ 5441
2
_5+1 _5-1
2 X 2
-6 -4
2 2
X= xX=2

x*-3x-10=0 s 3nc BDeSTHTRY, [eB)E BB20LBT DB
solution: a=1, b=-3, ¢c=-10.

VB —tac _ ~(=3)2(3)* 4)(-10)

2a 2(1)

_ 3+9 +40




RS FF AW
X -Tx+1220 B33 ST0HBOT DBD
2x°-6x+8=0 =TT SHrahBoE DB

R0B0F 3 DRUNY JJed

S BDea0ns Feegd 33 A = b’-4ac

Boess [N @md
b2-dac>0 RN DI DA D,
b2-dac=0 BWRONR TIRS DI B
2 TIVTIVT BWRVNR)
b"-4ac<0 @ed( Imaginary roots)

x2-4x+4=0 85 BN BDeBTET BRUNY FIoaa:, IeSeedd
Solution: a =1, b=-4, c=1

A =b’-4ac
= (— 4)-4(1)(4)
= 16-16
=0

A=0,

sDBO0T B TS D) T
3x2+5x-2=0 8 BNE BeHeSTET SNy BRIISS, defeedd
Solution: a=3, b=-5, c=-2
A = b2-4ac

=(5)"- 4(3)(-2)
= 25+24
=49>0

A >0, 58008 dhwonsd T3 ) O,



7x2-4x+5=0 B3 BN VALSTET WPV R’gsmdddg( ARe23d0
Solution: a=7,b=-4, c=5
A =b’-4ac
2
=(—4) -47)(%)

= 16-140
=-124<0

A <0,
B DN BDESTEIDY) DoTTSYT BWeNTRY, T 0T

920,33 BB, 1w
B BYNST INERDDEBTING Iweenss @mdd@( ATe3d
43" +12x+9=0
x*-8x+15=0
9x” +3kx+4=0 B Srir IVEBON BHE FONYRY, BeoBIRT Kk & Beabab
30T HAO
Solution: here a =9, b=-3k, c=4
b2-4ac=0
(3k)"-4(9)(4)=0
9k*-144=0
9k*=144

2 _ 144
k 9

k=16
k=

=16

RRT BB
S BYNR SreRDLEBTRNW BTG FwON¥a BeodFY
k 3abat Bom HBDY
() 3x +kx+3=0
(i) x +4x+k=0



D3B! ABCET 0B TeAINEID

80805 1 BROE <63

(a). QL DoTDANOT 2,08 DODIR DS BRT

d="\x" + y2
A(3,4) Dot e DoDAT DS BRTB), BoRbBWO
Solution; A(3,4) = x=3, y=4

d="\ x2 + yz
d="/3" + 4°
a=

\9 + 16
d=+/25

d=5.
923,38 BT,
A(3,-4) Do B0 DoDAINOT DT BRTIY B0 EBRD
A(-6,-8) VoD S0 Do IN0T WS BT B30 EBND

(b) 5T VoY IBAS 3T
d=/(x, - x)" + 0, — )’

(6,7) d)@ (1,5) 85 Doy IDAS BT B, B0 HBAO
Solution: (6,7) and (1,5).
X 1=6 , x2=1

y,=7, y,=3

d=\[Cr, —x)" + 0, = y)" T =1 -6+ (5 - 7’

d="(- 5" + (-

d=+/25 + 4
3,RB Z W d=/29

(7,3) D) (5,11) & Doty IBAS Be Fx, 30w HBALD
(7,1) SR (3,5) & Dotdriv IDAR TeS S, Bt LB



BOBOF 2 23N B)BIE AR,

mx, +nx1 my, +ny1
p(x,y)= ( )

(4,-3) d)@ (9, 7) ?Dod)rﬁ?ﬁg( 303 demmoddﬁg{ 3:2 TIBTY NS ATeET203 dﬁ&
30RHBAO
Solution; x 1=4, x 2=9

)

m+n m+n

y1=3, y2=7 ,
m=3, n=2
mx, +nx my2 +ny1
p(x,y)—( m+n m+n )
3(9)+2(4) 3(7)+2(—-3)
p(x,y)= ( 32 ' 342 )
2748 21 6
picy)= (25 )
p(x,y)'( , )
p(x,y)=(7,3)

03B BN
1, (3,4) d)é.)_‘ (-5,-7) DoHRYRY FedDS TearoaoBSY 4:5 BRDTIBTY JINDT DoDIT
ATeED03 ddg( B0 HLBAO

2. (3,-1) D) (2,6) DoV, TeODT Teara0BBRY 2:3 eDTITY AINDT VoA
ABeE D003 B, 30T HLBAO

20303 3 T DO T,

x+x y. +y
prsy= (20 22 )

( 7,4) 533.)_9(1,6) @Od)ﬁ%’ﬁ& eODD Tewon0BB d)t% DDA ATeET203 53& ZoRHBAO
Solution; x =7 x=1, y=4, y=6

peyi= (F S )= (4 )= (54 ) =49,

RTFT BN



(4,6) D) (8,4) Dothrivay, BeOS Seswsnotd ek DOTAT Aferz908 T, BoHBAT
(5,3) D) (3,1) Dowvrivay BeBDS Sesrsn08d W DoThAT Afer 72083, BoHAMWD
B080S 4 SBT AdenE

-1

(3,0), (7,0) DD (8,4) 3,01t Dorriwen BeoDDE Jzbhes IQerah B0B HBAD
Solution:

A=Zx, 0, = v) + %, —y) + x,0, - v)]
A=—[3(0 — 4) + 7(4 — 0) + 8(0 — 0)]
A=—[3(— 4) + 7(4) + 8(0)]

1

A=—[— 12 + 28 + 0]
1

A=—[16]

A= 8 sq units.
eﬂz,;mzsr’od @a;mb
(5,7), (4,5) DR (1,6) B0 DoRRVeN BLoODE SeHBT ILEHFSRY, 30w HBMO
(7,-3), (12,2) ) (7,21) 3)0rt DoBrweN BeoBWS FeHT IQeRFSRY, o LB

VB (2,-2), (-3,8) DR (-1,4) 8 Dordriwh FTYSearnd oo ToBY
Solution; A= %[xl(y2 =yt x(,—y) + x,0, - yz)]
A=5[2(8 = 4) + (- (4 — (- 2) + (- (-~ 2 - 8)]
A=—{2(4) — 3(6) — 1(~ 10)]
A=—[8 — 18 + 10]

A= —[0] =0
323 Agenr 0 SADZTO0T  ZRBHS et Dothriw IoYTeaana



B.%o [Telne Hned [a,| b, |c, |omTINIRN, |Ivy TRATT |WemnedSeod
a b, |S |RBeeoa T2OHNE [T
1 x—- 2y =0 ) [ e Y - b, eSeHzOT RDT=oN
3x+4y-20=0 2 Sl B (7 b, Seadnsd 2,0TD
OO0
(255)
2 2x+3y—9=0 _E_ % zl% a,=£L=£L E)Ssﬁm@g}d LTWONI
43+6y—18=0 = a, b, c, Sesdnisd HoLBodb
TOTRONTD
3 x4+ 2y—4=0 qal|ha =4 |a b _ c pifveolekcie] TOTmT aR
214 -12 | & =b_#c_ SesSmen
26+4y—12=0 Al T s

20BOI 1T IREDS AP

bx+y=20 HI3) Ix-y=7 B J[DeBTLNTIR, SBERDS IFoSDT DB

6x+y=20
3x-y=7
9% =27
x=-~L
9
x=3 6x+y=20
6(3)+y=20
18+y=20
y=20-18

Y=<



6x+2y=28 H3)2x+y=10 B JDeSTENYR) SBERDS IFRD0T DB

Solution ; 6x+2y =28 ...... (1)
2xty =10....... (2) x2 = 4x+2y=20...... (3)
(1)-(3)= 6x+2y =28
4x+2y=20
) () )

6x+2y=28
6(4)+2y=28 = 24+2y=28
2y=28-24 = 2y=4 = y=2.

SIADRS og)a:ﬁ%b

i. 8x+5y=11 D) x+y=4 85 IWeSTHNYR), IRERDT IFeRDT DB
i . x-y=3 DB) 3x-2y=10 B IDeSTENYRY SBERDS AFID0T DB



BB 2 [F2 T
2x+y=10 ) X +y=6 ILeSTNYRD, IF2 IFaSIDoT DBD

2x+y=10
X 0 5
y 10 0

x=0, 2(0)+y=10
y=10
y=o, 2x+0=10
2x=10
x=5




x+y=5 ) x-y=1 SDeBTENYY, Igo IFeshor DB
x+y=5
X 0 5
y 5 0
x=0, 0+y=5
y=5
y=o0, x+0=5
X=
x-y=1
X 0 1
y -1 0
x=0, 0-y=1
-y=1
y=-1
y=0, x-0=1
x=1

@mzséd o_":)JES;T'i%b 8 BYNT BDesTarivx SFab sSwews DB
i. 2x+y=8 and x-y=1
li. 2x-y=2 and 4x-y=4
lii. x+y=7 and 3x-y=3



e3B! 3)8@83&)3
ARPALCTAT)
IR0t ]
QB0F
fﬂ Eﬂiﬁdnajmﬂ coseﬂ Q (:’SQF s
-5 S ¥ SIRLMD 5
3 _ T3 _ 9 deu 8
cose--a- —(5— secd o mzjfmaj ) 0
o O¥FR
() eﬂzjdnwm cotfz=z
. ¥ wzﬁdnmmﬁ @Y WA
tanf = == ) :
— WOAtERMTIN)
00 s 160 19011 sinf+cosif = 1 . !
s | 0| 1 F 17431 sinf=— cosech=
2 [v2]7
ok | 1] 13 \1 1[0 || secto-tan'd=1 | o 1 5’°‘9=$
7172 sech
amh | 0| 1 '3 IND 20 - eatl) — .
t ;- 1| cosec?d - cotd = 1 tands L cote-mna
cosech [ND| 2 [ V2| 2|1 sinf
u tanf =— sinf = cos (90 - 0) cosf =sin (90 - 6)
sch (12 [V2]2[ND cosb
13 il cacf) = eocer 90 - A cosect = sec (90 - 0



1. 352 ABC ©00Ba¢R 32h2eenm),, 2 ABC =90°, AB =5¢m, BC = 12¢m,
AC = 13cm 9238, sin A, cos A, tan A, sinC, cosC, tanC F0RioRD.

A anpz® 2B 12
» T AC 13
13cm @
@ AB 5
- OsA=— =—=—
o AC 13
@0
) BC
tanA= — = —=
@ AB
12em o Sin | cos |tan
B | T | v
cosec | sec | cot
13cm @ sin C = ~ o
5““ c:) AC 13
" g BC 12
0 cosC=— =—=—
90 @ AC 13
C
® AB 5
12em 9 R iy
: tanC= = =30 = 32
sin32 sin32 sin32
2.— 38 a&),? = =
cos58 “ c0s(90-32) sin32
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Pgd | dALor/a | Getor e, ,; DAL erF PP
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ALEOF
73 4’ 6a’ 2’
301)11?5 2h(|+b) 2(|b+b|1+h|) Ixbxh
2dog" 2nrh 2r(r+h) nr*h
o) rl mr(r + ) mrzh
3
BondR 0R,@ | mln+ )l |mlry+ )l + e + o’ %uh( re + 12 + 1in)
2
egriaty | 27T 3ar g
Aoty 4nr 4nr %7"'3




20303 1 Tego0BT IS
AB=10cm su33 Sesarn2083:), 3.2 0bme338) Jerond

Y -
B,
. 3
Al

D0BO T 2 )3 Ioab ded e & Be3nv Su
4 cm 39, 3,3 S3B et wEBe Do p IO wod BBEBY, T8
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0
4cm GRT 20T DTS, B 120 Bees athzod 2 SRS, BB YNV
©03; DoWNYY I B3 MY Te3d

2030 ST 3 Wd, DoWDIN0T B BEBRW T3S

—_— ) W

3.5cm 3y 33 305008 Iem BRTBODHE 298, DoWAT 208 H3 T BF3
R B3R




2030 S 4. I SrDHRNY SI.

5cm ,6cm 33 7cm e QdE 0% 3RIHRB, Te3d J03T IR0 b

3, ©TT B 30de0md e SPTO TIAT 3rIVT VDTRE TNY % QDS
323

A




Qﬂ?,;)‘c)aswd ogﬂlﬁ%b
AB= 8cm «ga Jesro0B3B) 4:3 T33O JNd
5cm %&6@% de)g DA Deed ddreyTe Do pﬁ@m 203 K’()JESF BIS T3

0
4dem 3pBuod BEI 080 110 2ees 2B 2 BBy B8 OBV
03, DORDNYY J B3 VR T8

4 cm 3r@Y, 33 3eoBRT 8 cm GETRODHE o, DoDAIT 20D He3 T B3
v, 03

6cm, 5cm 3)3)_9 4cm 250RR DS 2,00 3RHRBIY, BB S03T DFR0D

b S VBT F303R0T) WeE SRTL TBIT SpHRT TR WomrY %
QRAB0B T3



eod: “R30 T BRFPTBe VOTDINY H¥T XTFER),
[ [Z] )
T WODATY 29T %!5 Ucuasahd:gd."

o8 : 0 Fgdcogachs 38, P yzr wowb.
mgdecd ¢ OP L XY
Cuss : Xory Hed Q wombaEmy, hThdx. 0Q cbay, Ao,
mgE 1 0 FZieonios 3N,

OP=0R (.. noZe 530 3xwne)
0Q = OR+RQ
0Q>0R
op Lxy (- XY=x3ed e sad dadlcs ded OP)

Teheodh: R, WoTLANCT T3 9T ITFEAWD, IHNDLIR.”

Q

a3 : 0 F3#eod P mEnombanos PQ w3 PR rivs Zarsnem, o¥ad.
mgaeeh : PQ = PR
mgs :  APOQ =3 APOR neg,

0Q=0R (.. wode F3T dmnes)
ZPQO = ZPRO =90° (.. $xn=) ¥3red wowmench3d)
OP = OP (.. Pod WIRE, WD)
~APOQ = APOR (Vo.R.25 Febeob)

' PQ=PR | (- XhoeT Jpbmne wbhteD wEND M)



FPeor TJbeod (Spv IRPETIIcH TJieod)

SEOBT WOML TN H¥T TRROIT FTYSedodn
NYTOE WRTLNACR, TEZRHIITY NPRNBIT

g3 : AABC ©Q DE || BC
AD _ AE
BD CE
gus :  DC =3y EB nva, %02,
EN 1L AB o DM 1 AC 2803.
mEs : AADE =3 ABDE @9

1
AADE dyger /2 ADXEN —
ABDE 2aeter s 1/2 BD < EN - A=
AADE aytne  _ AD O
ABDE aa“m.- T Py e

AADE =3 ACDE 9

AADE 3ytne /2 AEXDM
ACDE ;}amr — 1/2 CE x DM
AADE 2At0er _AE
ACDE ateer = TE e ([[)
M == () oo
22 ('~ ABDE =ACDE )

BD CE



TP (BREF-ERCT TRTRTI0N ATRETIND)

QTR GLhuneh DhineRcobnNGT,
UMY YWTAT WRPNYL ITRHITILIZ.

&3 : AABC =33 ADEF n$Q ZA =/D, /B =ZE, /C=LF

AB _ BC CA
PN : — e W=

DE  EF FD
dus : AX = DE sb3) AY = DF erbaiod X e Y
Dothres, w32, XY &, 202,
RS - AAXY =535 ADEF neg

AX = DE (- Sd)
ZXAY = ZEDF (- ©3)
AY = DF (- Sud)
. AAXY = ADEF (- wognwm)
s, ZAXY = ZEDF ]_ (‘ ©RTRT BneRned)
ZAYX = ZEFD
XY = EF

S XY IIBC (v osdnx dncsnss dabmongs,
Sesdnsh FTROTTTNTLIH.)

AB BC CA
R (o Fe, Febeod)
AB BC

CA
DE  EF FD



Tehoeod (TDTRT SFBWNY DJLLOFNLD)

“HTAT IPwnY JeroTie,
SPYNY YWUAT WRPNY INFNIR VDWITYLSS.”

: AR _BC _ A
3 : AABC ~ADEF, — = — = =

AABC ayer  BC
ADEF 2aeor  EF
dus : AM L BC =3 DN L EF oz

mEs 1 AAMB =3 ADNE rieQ

mPNCOL @

ZABM = ZDEN (@)
ZAMB = ZDNE = 90" (-~ cus)
AAMB ~ ADNE (" BRC.BRC ATeFTE M)

AB _ BM _ MA

DE  EN ND

1
AABC d3erer /2 BCxMA
= = - (**A=1/2bh)
ADEF 2aeror /o EF x ND
AABC 23erer BC x MA
égz{, - —
ADEF axerer EF x ND
AABCaxeer  BCxBC (- MA _ AB _ E)
ADEF 2x¢eer EF x EF " ND DE EF

AABC aywe  BC
ADEF 2xwr — EF




Benece® Qe Tpheok

2ot SEhRnY, ¥Ies Bal PN DO IR,
NOTBTR WIRNY wheds Inene a&.rag% TehTNEs,
¢ AT WY FBR Condecy HTFRIT.

o3 : AABC 59 AC? = AB? + BC?
mgaeed : ZABC = 90°
gus : ZQ =90°, AB=QP BC=QR wch=c3 APQR cus.
mEs : APQR 59,
PRZ= QP2+ QR? [£Q =90° Hgriscx’ Zbeck]
PR2 = AB2 + BC? ... (1) [ cuE)
AC2 = AB? + BC? ........ 2) [+ =3
= AC2=PRz  (1)& (2) 5%

. AC=PR
AABC =53; APQR r¢9
AC = PR [: =od]
BC = QR [ cus]
AB = PQ [ cug]

. AABC = APQR [vwmemim 2mes]
= ZABC = ZPQR =90° [ u=:dnex dncsne: x=b]
ZABC =90° |



g’uaqsaﬂradn‘ Tgeod
“uotd wowdeed JPRBY, Jerers NedE IR
NOBCm RN Heds Inrny :".uag% XHTNDLIE.”

o3 : ABC obQ ZABC = 90°
mpated : AC? = AB? + BC?
g : BD LAC
mEs : AABC &3 AADB n¢Q
ZABC = ZADB =90° [ ©3 & Susg]
ZBAC = ZBAD [+ eogdod Ry

~. AABC ~ AADB [Hehdncdeod Sphmnsh]

AB _ BC _ AC
B S e . e [3ne¢ dnc Xhonazdoh Do)

AB? = AC.AD (1)
AABC =3; ABDC neQ
ZABC = £ZBDC=90° [~ ©3 & Tud]
ZBCA = ZBCD [ eoged DRy
~. AABC~ ABDC [BSdncReod JRHTNL]

i T [re ¢ xhoexded AweFH]

BCZ = AC.DC
(1) 23 (2) =, weamn,
AB2 + BCZ = (AC. AD) + (AC. DC)
= AC (AD + DC)
=AC.AC

"AC2 = AB? + BC? |




Student’s self assessment chart

sl.no Concept Marks | Remark
1 General form and formulas on AP 1
2 Problems on nth term of AP 2
3 Problems on sum of n terms of AP 2
4 Theorems on triangles 5
5 Theorems on circles 3
6 Elimination method of solving linear pair 2
7 Graphical method of solving linear pair 4
8 Table 3.4 of Linear pair 1
9 Constructions 9
10 Distance formula 2
11 Area of triangle 3
12 mean median and mode 3
13 Ogive graphs 3
14 Formula method of solving QE 2
15 Nature of roots of QE 2
16 Formulas of solids 2
17 Simple problems on trigonometric ratios 2

Total marks 48




